2015HE £ 2 8 YW THABMSS2S ANPTAHE ~
SN CARBMSSES ANBEAR

HY: ZRCNB 29

ool AIRIENT 29

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
CARBMSSER ANPEAB 12,385,837 12,358,200 27,637
2 165,740 165,740 0
X 2,780,000 2,780,000 0
= 1,000,000 1,000,000 0
= 2,157,570 2,157,570 0
Al 6,282,527 6,254,890 27,637
TZ=HB 2Y 3,045,872 3,022,685 23,187
2 165,740 165,740 0
< 72,570 72,570 0
Al 2,807,562 2,784,375 23,187
NN 29 2,402,046 2,378,859 23,187
2 81,050 81,050 0
= 30,225 30,225 0
Al 2,290,771 2,267,584 23,187
Negeg el 403,544 400,844 2,700
405 Kot S| 3,800 1,100 2,700
01 MY S EHSH 3,800 1,100 2,700
omemy ¥ Ma AI7Y 2,700 0 2,700
Oslogon 220,0008 * 1074 2,200 0 2,200
OOlEAE(2ag) 500,0008 * 10} 500 0 500
legEy 29 228,142 215,305 12,837
101 124 bl 158,062 145,225 12,837
04oIZHZ 2SR+ 158,062 145,225 12,837
ONEFe L FL NS4 2YA(AY)
4,6408 * 39 x 262 » 128 41,784 38,302 3,482
ONEFe L FL NS4 2YIA(4F)
44,6408 » 2% x 262 * 12 27,856 25,535 2,321
ONEFe L FL NS4 2YIA(HH)
44,6408 * 2% x 262 x 12 27,856 25,535 2,321
ONEFe L FL NS4 2YA(2Y)
44,6408 » 2% x 262 x 12 27,856 25,535 2,321
ONEFE L FL NS4 2P (H4)
44,6408 * 1% * 262 * 128 13,928 12,768 1,160
O4tHAtE 2B 2 14,782 13,550 1,232
O=20l0i3 23 139,280,0008 * 4.5% 6,268 5,746 522
OnS=E2 Y2 139,280,008 * 1.5% 2,090 1.916 174
OALEEHE 2E2
139,280,0008! * 2.995% 4,172 3,824 348
OFIeYEHE 23
4,172,0008 * 6.55% 274 251 23
OMWEEE 22 139,280,0008 * 1.42% 1,978 1,813 165
NEE RN 507,232 508,932 A1,700
401 A& HI2 = OH b 115,624 117,324 A 1,700
01 Al&HI 115,624 117,324 A 1,700
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>
N & 0l & At & Z Al
P018HE £ 2 3 YBEH THRTYSSES AYCAHE ~ CARZYsSES =k
SN CABBYSSER QBTN
HH: BTCHY 2Y
Sl NYRSEHEY 29 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
CHRZYSSES QBTN 2,422,340 2,372,038 50,302
2 66,870 66,870 0
< 128,035 98,035 30,000
Al 2,227,435 2,207,133 20,302
TTZEHB 29 2,006,572 2,046,270 50,302
2 66,870 66,870 0
< 128,035 98,035 30,000
Al 1,901,667 1,881,365 20,302
NERBZHZ 29 1,463,082 1,423,046 40,036
2 19,320 19,320 0
= 104,260 74,260 30,000
Al 1,339,502 1,329,466 10,036
=N 51,004 48,438 2,566
101 Q1248 31,614 29,048 2,566
04 JAHIENSE S 31,614 29,048 2,566
oxzFe U FL HEA 2P
4,640% * 2% * 262 * 128 27,856 25,535 2,321
YT = 2,958 2,713 245
SERIELI=E 27,856,008 * 4.5% 1,254 1,150 104
OAASH2ELS 27,856,008 * 2.995% 835 765 70
ORIIQUSHRELS 8350008 * 6.55% 55 51 4
ON8BHELYS 27,856,008 * 1.5% 418 384 34
OUMBERLD 27,856,008 * 1.42% 396 363 33
NEERS T 320,673 313,403 7,470
405 XH4+ 2 S bl 7,470 0 7,470
IR EEEE 7,470 0 7,470
O 4Tt 3.000,000% * 1K E 3,000 0 3,000
CEEPY 600,002 * 14 600 0 600
CITE3n) 8000008 * 14 800 0 800
o™ 1,200,002 * 174 1,200 0 1,200
OTVEE O] 300,0008 * 174 300 0 300
0398 =X 250,002 * 14 250 0 250
o828 X 155,0008 * 474 620 0 620
ONYE 350,008 * 20 700 0 700
HeCHY BH(2X) 30,000 0 30,000
= 30,000 0 30,000
402 Q12HT 20| & 30,000 0 30,000
= 30,000 0 30,000
01 BATEALEE 30,000 0 30,000
ONSEAZ ZH(SYA)
30,000,0008 * 192 30,000 0 30,000
= 30,000 0 30,000
HRAC KBS 237,001 233, 149 3,852




SN EABBASSER QSEND
Hu: BBEHB 29
ool NRENZSY (e9: & 9)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 19,320 19,320 0
= 9,660 9,660 0
Al 208,021 204,169 3,852
NEgEALY 64,741 60,839 3,852
101 @124 bl 47,421 43,569 3,852
BENEESETCRS 47,421 43,569 3,852
ONE2Y =Y NHE HSY
44,6409 * 3% * 262 + 128 41,784 38,302 3,482
O4THAtE 28 2 4,437 4,067 370
O=oleig 23 41,784,008 * 4.5% 1,881 1,724 157
OALSHHSEYS 41,784,008 * 2.995% 1,252 1,148 104
OFIQYLH2 $3
1,252,0008 * 6.55% 83 76 7
ONSEHE L2 41,784,008 * 1.5% 627 575 52
OMTHHNZAZEE 41,784,002 * 1.42% 594 544 50
socHEeYy 227,680 225,114 2,566
= 28,230 28,230 0
= 14,115 14,115 0
Al 185,335 182,769 2,566
NEZEASY 47,234 44,668 2,566
101 2124 bl 31,614 29,048 2,566
SEREESETCRS 31,614 29,048 2,566
ONEFR ¥ FL NEL 29 oY
46408 * 29 « 262 » 128 27,856 25,535 2,321
O4ThAtE 2B 2 2,958 2,713 245
O=oleig 23 27,856,0008 * 4.5% 1,254 1,150 104
OAVEHE 2L 27,856,0008 * 2.995% 835 765 70
OXIIQULEHE 2L2  835,0008 * 6.55% 55 51 4
ONS=2EHE L2 27,856,008 * 1.5% 418 384 34
OMNWEEE 2E2  27,856,0008 * 1.42% 396 363 33
NEEChESY 95,637 94,355 1,282
nEgEs 29 30,818 29,536 1,282
101 124 bl 15,808 14,526 1,282
04JI2HZERSE S 15,808 14,526 1,282
ONEF2 %L FL NEL 29 o
44,6408 * 1% * 262 « 128 13,928 12,768 1,160
O4ThAtE 28 2 1,480 1,358 122
O=pleiz 2e3 13,928,0008 * 4.5% 627 575 52
OAYEHE L2 13,928,0008 * 2.995% 418 383 35
OFIIQYLEHE L2 418,002 * 6.55% 28 26 2
ONS=EHE Y2 13,928,0008 * 1.5% 209 192 17
OMNWEEE 222 13,928,008 * 1.42% 198 182 16
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SN CABBMSSES BAsS
HE: Byss 78
S BASSUEST 23 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
SEEEY 300,000 * 123l 3,600 0 3,600
= 1,800 0 1,800
Al 1,800 0 1,800
OB LA} 200,0008 * 63| 1,200 0 1,200
2 600 0 600
Al 600 0 600
0D M= 10,0008 * 402 400 0 400
2 200 0 200
Al 200 0 200
o840t XM= 100,000 * 204 200 0 200
oxzAUE 400,0002 * 13| 400 0 400
OXNY BMDS M5 NAANY ST HE
4,260,0008 * 13l 4,260 0 4,260
301 Y2 A2 9,000 0 9,000
IEEEYE 9,000 0 9,000
OBMSISAGA B4 30,0008 * 3003 9,000 0 9,000
307 £I2+0| & 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
02 SIHFMAYEE 40,000 0 40,000
OIS SIS BAHS LISO
15,000,0002! 15,000 0 15,000
2 7,500 0 7,500
Al 7,500 0 7,500
OXND & &D PSE= /Y 25,000,0008 25,000 0 25,000
2 12,500 0 12,500
Al 12,500 0 12,500
HHSAAU (THBPYSSEE BUSSH) 136,605 144,253 ~7,648
=2 136,605 144,253 A7,648
ol = 2| 136,605 144,253 AT,648
201 Lyt FH| 110,743 112,283 A1,540
01 AL 22l 29,350 30,890 A1,540
OJl=2Ye4s FSH(EXINE) 7,434,000 7,434 8,344 £910
CEEEIIESp/E)) 7,938,0002 7,938 8,568 A630
202 01t 16,159 18,360 ~2,201
01 24018l 16,159 18,360 ~2,201
OINFELH (ZHHH) 16,159,0002! 16,159 18,360 ~2,201
203 4R F T bl 9,703 13,610 £3,907
02 HRAIIMALEZ Y| 1,359 2,760 A1,401
OJIE % (ZEH ) 1,359,0008 1,359 2,760 A1,401
03 Al ZE Q@ ET Y| 2,494 5,000 ~2,506
ONBEXALERY (ZRNB)  2,494,0002 2,494 5,000 ~2,506
WRES(CHNRBASSSE HYSS) 93,492 92,492 1,000
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